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It's in

green

The SLOPES of the secant lines
-

gets closer to the SLOPE of the

Tangent .

um

While we want the slope ofthetang.eu#what we can calculate ( find precisely)
are slopes of fsecantsf

SLOPE

point ( 1
,
4. 5) y

- 4.5=-1 ( x - 1)

slope m= . 1 ( guess
! ? ) y = - × +1+4.5

|y=5=X1
. Find points on curve getting closer to point P .

2. Find slopes of secants determined by P and points
from # 1

.

3
.

Look at what Value the slopes from # 2 get
closer to

.

Use this for the value of m
.

4. write equation using Iand¥ .



They will also have slopes getting
closer to -1

.

avfefoaodffy = Dpositiondtime

a

adf.ee#=79j2jn2o6-=29.3=so79okj46I
→

124.8-79.2 = 32.7 f%
Ty

= 45.6 ftls
-

17-6.7<729.2-48.75 ftp.

Given a infra, find :

changeinotn
change in time

Use a Super - small time interval and find the

average velocity on this Super - small interval
.

What the speedometer Shows .

m= 48.75

m= 45.6 secant lines
200 - -

in blue

-
tomboyI ° ° -

m=
29.3
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I chose to avenge the

www.aggydnoeustieanmatafheer.ewnd

# # * Till 's guess
time interval

' 2*43 to 4 4 to 5 4 to 6

45.6+232.7=3%-1

avg.ve.ws/29.3t32.tT?&4If#o?9eEy?.a+imemwryeoIEH

•

Solving the tangent problem means finding the

Elf
of a

gNe#e
. Solving the

nnyyvalociyproblem means findinginstantaneous
velocity given

Jpositionofobjeetatgiventimes.Thes@pefofangenisthesameasinstantaheoCveDcywhentheGrepresentsCormodelDthep-ostonofanobjectovwtme.ln

both

Cases we approximate the slope or instantaneous

velocity using

secantlin@orarerageveloa.ly#

approximate , approximate , approximately


